DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

Division: Narme:
Time: Score: J_
) —5475+0.1 = 96 7.957 + (—0.1) =
W) 12714 =2 — W) —766.88 = 0.08 =
s —44.937 + (—0.09) = 09 —129.95 = (—0.05) =
189 —43106 = 7 = 199) 7,223 = 0.1 =
59 3499.6 + 4 = 00 —449 =+ (—10) =
w6 —2323.2 + (—0.4) = so1) —177.76 = 0.08 =
87 67.28 +2 = 502 —699.84 + (—0.08) =
158) - 520.03 =+ 0.07 = 03 —86.7 + (—0.02) =
) 5.05+1= 0 —2942.4 = (=3) =
00 14418 + (—0.2) = ) —11.7 = (=9) =
1) 45.608 + 0.8 = 00795+ 3 =
192) —252.64 + (—0.04) = 0 2564.97 +0.09 =

493)

494)

495)

52.66 = (—0.02) =
447+ 0.3 =

967 =+ 10 =

Mathematics: Division - Level 6 - Horizontal - Set 3
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508)
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367.4+0.1 =
7.569 = 0.1 =

—9237.36 + (—0.04) =
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